ROV = K2PMFETHERE R —F AV HY)
XF¥UJILAB X# D ES -0
[FL—71]
EF4 JIE 15z
1 e J-3 J-5 J-7 [EHEa—F: J O—FK]
(HiICS) XEFHIXO
2 Bif J-3 J-8 J-6 1881 &£ 2 (4)
(A3IGLS) 2BkH---3& 4 (1)
3 5 J-5 J-8 J-4 3EE-1 &3 (2)
48,2 &£ 4 (3)
4 FEH J-7 J-6 J-4 5H--1 &4 (2)
(HGNE) 6ELE---2 &£ 3 (1)
[FI)IL—F2]
EF4 JIE 45z
1 3@ 0-3 0-5 0-7 [EHa—k: O O—K)
(H3L/KF) XEFHIXO
2 XF 0-3 0-8 0-6 18H-1 &2 (4)
(AIIGLS F&ER) 28B---3& 4 (1)
3 FHE 0-5 0-8 0-4 3E---1&£3(2)
(BIL#AZERT) 4E,B---2 &£ 4 (3)
4 O 0-7 0-6 0-4 5EE---1 &4 (2)
(B3z/87—) 6EfE---2 &3 (1)
(R —FAR) HKEHIIRE
(TIL—T1 141) (FI—F1 241)
J-9 J-10
(TIL—T2 241) J-11 (FIL—T2 141)




